
 

 

 

 

550GTX, Dual Arm External Pivot 

RF Wireless Controller 
Tarp Stretcher Motor, Dual Arm, Passenger Stowing, Rite Touch, RF Key Fob 

  

550GTX Grain Trailer Tarp System 



      Roll-Rite 550 GTX, Dual Arm, External Pivot, RF Wireless Controller 

1 
www.RollRite.com  |  650 Industrial Drive Gladwin, MI 48624   | USA: 800-297-9905, Int’l: 989-345-3434 

 
Bom 
ID 

Part# Description qty 

Ref 38206 Roll-Rite 550 GTX, Dual Arm, External Pivot, RF Wireless Controller 1 

1 10200 Gear Motor, Tarp Stretcher 12V - S/N: TS 1 

2 101077 Pivot, Assembly Front Arm for 100832 & 100866 Power Kits 1 

3 47270 Bracket, Universal Mounting Brkts for External Pivot Power Kit  on Grain Trailers (Set) 2 

4 101707 Electric Kit, Rite Touch W/RF & Key Fob for 38206 Kit 12 volt 1 

5 36940 Axle, Adapter 2" Axle, 21" Extrusion Tube 2" OD - 1"ID 1 

6 36945 Axle, Steel 2" Axle Extension Swedged One End (3') 1 

7 46813 Pivot, Assembly Knuckle Rear  Arm for 38206 1 

8 100740 Wire, 8 Ga. Dual Conductor - (per ft) - BLACK/YELLOW 1000ft Spool 1 

 

  

 

tel:18002979905


      Roll-Rite 550 GTX, Dual Arm, External Pivot, RF Wireless Controller 

2 
www.RollRite.com  |  650 Industrial Drive Gladwin, MI 48624   | USA: 800-297-9905, Int’l: 989-345-3434 

 
Bom 
ID 

Part# Description qty 

Ref 101077 Pivot, Assembly Front Arm for Power Kits 1 

1 37590 Bushing, Axle Stabilizer for 3694 Conversion Adapt - STS 1 

2 48890 Pivot Tube, Long upper pvt arm for TT SS(16") 1 

3 47960 Bracket, 3 Sp Knuckle pin w/ stop plate for SS pvt, mtr end 1 

4 47230 Spring, Spiral Torsion Spring 1 1/4 7 

5 18560 Pin, 1/2 x 4 1/8 Special Clevis 2 

6 18295 Bolt, 1/2"  x 1 1/2" Button Head Bolt 4 

7 18412 Washer, 1/2" Flat  Zinc 6 

8 18631 Nut, 1/2" Nylock Nut for Semi-Automatic 6200 Series 4 

9 48440 Pivot Tube,  Base Arm for External Pivot Retro fit Kit on Grain Trailers 1 

10 45350 Pivot Pin, 5-Spring 1 

11 100740 Wire, 8 Ga. Dual Conductor - (per ft) - BLACK/YELLOW 1000ft Spool 1 

 

 

 

tel:18002979905


      Roll-Rite 550 GTX, Dual Arm, External Pivot, RF Wireless Controller 

3 
www.RollRite.com  |  650 Industrial Drive Gladwin, MI 48624   | USA: 800-297-9905, Int’l: 989-345-3434 

 
Bom 
ID 

Part# Description qty 

Ref 47270 Bracket, Universal Mounting Brkts for External Pivot Power Kit  on Grain Trailers (Set) 1 

1 47272 Bracket,  Outer Bracket for 47270 Bracket Set 1 

2 18296 Bolt, 1/2" x 1 1/2" Hex Head Bolt 4 

3 18412 Washer, 1/2" Flat  Zinc 8 

4 18631 Nut, 1/2" Nylock Nut for Semi-Automatic 6200 Series 4 

5 101026 Bolt, 3/8"-16 x 1 1/2" Button Head Zinc 4 

6 47271 Bracket,  Inner Bracket for 47270 Bracket Set 1 

7 18418 Washer, 5/8" x.25 thk Nylon Flat Washer .391ID 4 

8 18410 Washer, W 3/8 USS Flat  Zinc Plated 4 

9 18628 Nut, Nylock nut  3/8" Jamb Nut 4 

 

  

tel:18002979905


      Roll-Rite 550 GTX, Dual Arm, External Pivot, RF Wireless Controller 

4 
www.RollRite.com  |  650 Industrial Drive Gladwin, MI 48624   | USA: 800-297-9905, Int’l: 989-345-3434 

 

 
Bom 
ID 

Part# Description qty 

Ref 46813 Pivot, Assb Knuckle Rear  Arm for 38206 1 

1 48892 Pivot Tube, Upper Pivot Tube, Rear, For Dual Arm Kits Assembly 1 

2 47960 Bracket, 3 Sp Knuckle pin w/ stop plate for SS pvt, mtr end 1 

3 48440 Pivot Tube,  Base Arm for External Pivot Retro fit Kit on Grain Trailers 1 

4 18560 Pin, 1/2 x 4 1/8 Special Clevis 2 

5 47230 Spring, Spiral Torsion Spring 1 1/4 5 

6 18295 Bolt, 1/2"  x 1 1/2" Button Head Bolt 4 

7 18412 Washer, 1/2" Flat  Zinc 6 

8 18631 Nut, 1/2" Nylock Nut for Semi-Automatic 6200 Series 4 

9 45350 Pivot Pin, 5-Spring 1 

tel:18002979905


      Roll-Rite 550 GTX, Dual Arm, External Pivot, RF Wireless Controller 

5 
www.RollRite.com  |  650 Industrial Drive Gladwin, MI 48624   | USA: 800-297-9905, Int’l: 989-345-3434 

 
Bom ID Part# Description qty 

Ref 101707 Electric Kit, Rite Touch W/RF & Key Fob for 38206 Kit 12 volt 1 

1 103641 Enclosure, Poly Box with Controller Mounting Plate 1 

2 12770 Plug, Socket Half of Sureflex Dual Conductor (50/box) 1 

3 11000 Relay, RF Controller w/One Key Fob 1 

4 101759 Relay, One Touch Amp Sensing w/housing and Decal D6 1 

5 101785 Instructions, Rite Touch With RF 12 volt 1 

 

 

tel:18002979905

